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. . funohon OpuwaRions (Aﬂa}gﬁ

C—';\Vm L) = bx -5, S(X) X +| ond. h(x)=2x+1, find -

ED) (o W) = (B4 DA

= X% +2X + 7
ExD (h-P)X)= (?-X+7)€i?;x\ 5)

= 72X+
2X+7 l.ax+5

-Fax+12)
D &3 (9-H0)= @s)

=[X>—5%% + Loy —5|
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Composrhons _9_-P Funchons

O (—P og}(x)——% P(@(x)) VP oof 9 of x"

—puHm% one fonchon o anothar

- NOT mu\-hp\lccd'\cr\ '

Gwven £(x)=x*+| and (x) X+2., find:

ED (Foa)- 9(@ 3(z>=(3+g9
+

= $(4) g(x) =

= (4 +|

I

1

@ ( 0,0 £)(2)

=(5)+2

[l

ﬂ(@ P(2)

:W
= 6 (5) 6(){) =(%4+ 2
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GQwen D(x) =2x+] ond (x)=bx-4, find:

.‘ @) (,Oo@(x) - 4\@ 9(x) =%—E

"'“P(UX‘L"> (x) =

= 269+ |
= 7.(lx ~4) + |
i

=|2X —& +|

-fizx=7 |

ED (a0 Do) = 4(E) HxX)
:3(ZX+') q(x) = g-H
= §(2xh) 4
= | 2X +z|o_—j

=\2X+Z
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© Gwen £(x) = x%-2, 3(><) =3x+), and h(x) =4x, find:

o ™)

CRN)

EEND

=L2(3%x+1)
=(%x+5?—2

- @G-z

‘-'-‘%(2' +3X +3X+| -2
=[ax%+1x —|

=0 (4x)
= (4)*=2
= (% 4x) -2

=llox*=2]

= (Hx)
= 4(Hx)

lLx ]

s
L) =@ -2

h(x)=
() =@r-2

h(xX) =%
h(x) =
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